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=Sign(J]0O 0 0 0 0 OD=[1 1 1 1 1 1]
E=T—-A=[1 11 0 0 O0]—-[1 1 1 1 1 1]

=0 0 0 -1 -1 -1]

V(1) = V(0) + %EQT

—1 1 17
0 0 1

V) ==[0 0 ol+=|[0 0 0 -1 -1 —q|t =11
> 1 0 1

0 1 1

05 05 1l

V(1) =[-0.75 -0.75 -—1.5]

19



& ntrnltn rineers.i
Ofa umtrnl(.n gineer

jﬁ’

:Cj) )ngj

Al = Sign(V(1)Q)

10 110 05
=Sign<[—0.75 —0.75 -15]|1 0 -1 0 1 0.5)

1111 1 1
= Sign([-1.5 -1.5 —-15 —-225 -225 -2.25]
=[0 0 0 0 0 O]
E=T-A=[1 1 1 0 0 0]—-[0 0 0 0O 0 O]

=1 1 1 0 0 0]

Vi2)=vQ@)+ %EQT

—1 1 1
0o 0 1
V(2) = [-075 —075 —15]+~{ [t 1 1 0 o o1 =1 1
- . . . 2 1 O 1
0 1 1
05 05 1.
V(2) = [=0.75 —0.750]
o s SIS

1 0 1 1 0 05
A? = Sign(V(2)Q) = Sign ([—0.75 —0.75 0] [1 0 -1 0 1 0.5])
1111 1 1

= Sign([0 0 0 -0.75 —0.75 —0.75])
=[1 1 1 0 0 0]
E=T-A=[1 1 1 0 0 0]-[1 1 1 0 0 0]

=[0 0 0 0 0 O]

20



& rolengineers.ir
© @controlengineers

’

S Ao 55 b elyl ol polie g 2y SIS 4 (555 K g Sl oks il s lutde

ML o ) e 4 AL ESD

21



& nlrnltn rineers.i ‘p'
0 @ umtrnl(.n gineers

1080 0 9 D90 4 Pg (ST AbL E=6 &5 Al 40

AL (o ) g 4 SE gl el

:@aﬁ)bﬁjzifjﬁijbb=0)W2=O)Wl=0;‘

V{0)=[0 0 0]
-1 0 1 1 0 0.16
A0=Sign(V(0)Q)=Sign<[0 0 0][1 0 -1 0 1 0.16])
1111 1 1
=Sign([0 0 0 0.0 OD=[1 1 1 1 1 1]
E=T-A=[1 11 0 0 0]—-[1 1 1 1 1 1]

=0 0 0 -1 -1 -1]

V(1) = V(0) + %EQT

Z1 1 1
0o 0 1
v()==[0 0 o]+=|[0 0 0o -1 -1 -1 1 =1 1
1 0 1
0 1 1
016 016 1.

V(1) =[-0.58 -0.58 -—1.5]

22



& ntrnltn rineers.i
Ofa umtrnl(.n gineer

jﬁ’

:Cj) )ngj

Al = Sign(V(1)Q)

-1 0 1 1 0 0.16
=Sign<[—0.58 —0.58 —1.5][1 0 -1 0 1 0.16])

1111 1 1
= Sign([-1.5 -15 —-15 -2.08 -2.08 -1.68])
=[0 0 0 0 0 0]
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a = Sign(wP, +b) = Sign([-1 0] [‘11] ~05) = Sign(0.5) = 1
P3 Sl sl 5

a = Sign(w P; + b) = Sign ([-1 0] [8] = 05) = Sign(—0.5) = 0
Py s Sl

a = Sign(w P, + b) = Sign ([-1 . 0] [(1)] —05) = Sign(-1.5) = 0
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